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5T m = 30.0 N/mf
(3)YKEAY FEL(W/C) m = -17.2 + 26.8 X C/W
W/C = 26.8 =~ (30.0 + 17.2) X 100 = 57.0 % = [60% ( FFR{H)]
B SW/C = 57.0 %
(4) HALKE (W) YTHOERITEIY W = 158 kg/m
(5)HEfiE A FE(C) C =W =~ (W/C) X 100 = 158 = 57.0 X 100 = 277 keg/m |
Cv= C +~ HBE = 277 + 3.04 = 91 2 /i
(6)Z=%&E(A) - A = 4.5 % X 1000 = 45 2 /m
(T)EMHEEME(G) YUIBEOFERICIY 2»EEHE = 0.663 mi/m EER = 60.0 %
Gv = 0.663 X 1000 X 60.0 -+ 100 = 398 £2/m
Gl = Gv X 40.0 % X FEEE = 398 X 40.0 % X 2.72 = 433  kg/mi
G2 = Gv X 35.0 % X FTEEHE = 398 X 35.0 % X 2.71 = 378 ke/m
G3 = Gv X 25.0 % X REEE = 398 X 25.0 % X 2.71 = 270 kg/m
(8) HALHIBEME(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 692 = 308 £/m
S1 = Sv X 40.0 % X FWEE = 308 X 40.0 % X 2.63 = 324 ke/m
S2 = Sv X 60.0 % X KEHEE = 308 X 60.0 % X 2.56 = 473  kg/mi
(9)MEHE(s/a) s/a = Sv + (Gv+Sv) X 100 = 43.6 % |
(10) EArREFOAI&E (Ad) Ad = C X ENE = 277 X 0.9000 % = 2.49 kg/md
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